Reflection Sheet

Name: Date: Week #:

Grade Comments

Assighments
Pleace cign waally

Parent Signature

Date Class work Homework (must write in planner as well)

Monday

Tuesday

Wednesday

Thursday

Friday

**#¥Students must complete their homework daily, 100%; the consequence = silent lunch daily****

Parent Signature:



rEssentiaI Questions

Answers

1.

10.

B

Ms. Alford- tlalford@wsfcs.k12.nc.us

Mrs. Reyes- vdreyes@wsfcs.k12.nc.us

Mrs. Shore- jlshore@wsfcs.k12.nc.us



Name:

Date:

“Warm-up Q2 W2"

_______

from the top of the building is 60 m. How high is
the building?

Clamians
STV Y

Tuesday Warm-up

No School

Show your work.

Wednesday Warm-up
A can has a height of 13 cm and a diameter of 7
cm. What is the approximate volume of the can
rounded to the nearest hundred?

Show your work.

Thursday Warm-up
The human ear grows at about 8.78x10° inches a

year. How much larger does the human ear grow
in a month than a day?

A. 100 times
B. 87 times
C. 30.4 times
D. 0.033 times

Show your work.
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Pre-Algebra Builder #4

Name

3 FEIEBNE) = (-4)(=2)(3) = (50)(=0.5)= ___
[
® | 2+(-50)= -95 + (-6) = ad Lo
|
2 v | 1,250,000 = X 10— 43x105=_
53
g 33,005,000,000= X 10~
=
:?P, 52.003 x 100 = 0.1+100= 0.30 x 1,000 =
2
2 40% of 50 = 40% of 60 = 40% of 70 =
&
2
g Place the numbers on the number line. \/—4:, - 14|, -1,-1.5,1.75
=3
- _——
E > R O, P TUUUO (SO0 N TN NN OO ‘N e -
3"E||||Il||||||||||
v -2 - 0 1 2
392x272= % g % _ Evaluate the expressions for when q = -2, 1 = -1;8=3.
g+rs I+ sg
o m
- :
:
o =)
g z
Go 52 62 33 23 =
WIIm
25 | _x_ X XX X X__ XX
ng
%g . o X X -
gm
@ s - _
WORD BANK Natural Numbers, their opposites, and “0°
@ Classifications of
2 Numbere Any natural number and “0”
8 < .
< Ordinal Irrational
£ | Real Counting | Number that cannot be written as a ratio of two integers
o Whole Rational
Integers ) ; ; : ; -
Number written as quotient of two integers where denominator is not “0
i = (= .]_' = ] 2 E = —
gl 2 - 3 ! 3
c
=2
A L - ) 2 _ o . 3= =
% z - = 3 Z o= ¥ 4 1
L%

© 2012 Algebra Readiness Educators, LLC




pre-Algebra Builder #3

Name

5 | (=1)2)-4)= (=3)(2)(3) = (=150)(=0.5) =
D
o
8 | 9+(-5)= 9= 4+ (2)=
28 16,000,000 = X 10~ 5.23987 x 108 =
23
S& 45,600 = X A0
g
g; 52.3 x 100 = 1+10= 0.3 x 1,000 =
o)
4
g._ 30% of 20 = 30% of 30 = 30% of 40 =
2
§ Place the numbers on the number line. \/I, -5 1%,-2.25, -2.00
8
& . T T T M MO | N N IR M I b
E o — 1 | [ | T 1 1 [ | '| |
& 4 0 1 2
0 61x23= % +% s Evaluate the expressions for wheng=-2;r=3;s=1
q+rs r +sq
o [
g
g %
& o
=] @
w | 4 52 23 33 13
(%21l
o8| __x_ . o X XX x ¥
WO
o5
ga = S X e (. X
o (2]
@ e -
WORD BANK Number written as quotient of two integers where denominator is not “0” o
< Classifications of
o |Numbers Any natural number and 0" BT
& Ordinal Irrational
rationa
g Reraa:ln 2 éc?u:'\ting Natural Numbers, their opposites, ando*___
3 Whole Rational ‘
Integers A number that cannot be written as a ratio of two integers__——————
:er g = x 1= = : 2= = ;
g 2 3 e o
<
0
g }_ - = . .‘.2. = = ; -5: = = ;
o i — ' f— F—

© 2012 Algebra Readiness Educators, LLC




Point- has no size, only iocation :
Plane-a flat surface that extends indefinitely in 4 directions

i[_ine- continues without end in opposite directions

"T_ipe segments- a part of a line; has 2 endpoints

Ray- has one endpoint and continues without end in the opposite directions
Angle- has 2 rays that share the same endpoint

N?ertex- is the point in which 2 rays meet ,

Lomplementary angle- 2 angles whose sum measures 90 degrees
Supplementary angles 2 angles whose sum measures 180 degrees

Vertical angle- angles that are diagonal from each other and are congruent
Skew lines- lines that are on different planes and never intersect

Parallel lines- lines that are on the same plane but never intersect
1Intersecting lines- lines that cross each other

~Perpendicular lines- lines that intersect to form 4 right angles
. Adjacent angles- angles that are side by side

.Corresponding angles- angles that are in similar positions and are congruent
“Transversal line- a line that cuts a pair of parallel lines -
Anterior angles- angles that are on the inside of an object or on the inside of parallel

lines cut by a transversal

-Exterior angles- angles that are on the outside of an object or on the outside of parallel

lines cut by a transversal
“Alternate interior angles- angles that are on the inside of parallel lines cut by a

transversal and on opposite ends
~Alternate exterior angles- angles that are on the outside of parallel lines cut by a

transversal and on opposite ends
-Acute angle- angle less that are less than 90 degrees

Obtuse angle- angle greater than 90 degree but less than 180 degrees
-Right angle- angle exactly 90 degrees

-Acute triangle- all angles are less that 90 degrees

.Obtuse triangle- a triangle with one obtuse angle

-Right triangle- a triangle with one right angle

Isosceles triangle- two of the sides are congruent

Scalene friangle- none of the sides are congruent

£Equilateral triangle- all of the sides are congruent

Perimeter- is the distance around an object

Bircumference- is the distance around a circle

Area- the number of square units

Base (B)- the area of the base (bottom part of the object)

Base length (b)- the length of the bottom part of the object

fCenter- the middle point of a circle; it is equal distance to the points around the circle
Diameter- a line that goes through the center of a circle

Radius- a line that is half the length of the diameter

CGhord-a line that goes touches two ends of the circle

Surface Area- is the total area of all faces (faces: flat surfaces)
Pi- symbol: 3.14 decimal(rounded): fraction:
Volume: the number of cubic units within a 3-D solid



o
Circumference:

Area Square:

Area Rectangle:

Area Triangle:

Area Parallelogram:

Area Circle:

Area Trapezoid:

Volume Cone:

Volume Rectangular Prism:

Volume Cylinder:

Volume Cone:

Volume Triangular Prism:

Volume (Rectangular) Pyramid:

Simple Interest:

Pythagorean Theorem:

Percent of Change:

Slope Formula:

Slope Formula:

Surface Area Rectangular Prism:

Surface Area Cylinder:

Percent Proportion:

Slope Intercept Form:

Point Slope Form:

Standard Form:




